Topic:- General Hindi

1) e &1 fadv 3 8
1. ST

2. 7@

3. T

4. TG

Correct Answer :-

2) «“HIg AT 3R 98 FeT1” BT Y I B
1. AIgT ¥ ST 3R I8 gl

2. TG ST 3IR I Hgll

3. g ST 3R Hig = Hel|

4. TG ST 3R 3T HET

Correct Answer :-

« TG ST SR I g

3) <M A g fean 1 g &
1. 30 9 feu|

2. GHEY fean|

3. 89 7 g4 faa|

4, B9 -1 g9 fear|



Correct Answer :-

. 3By feul

4) 98 B9 A HTUT € For T 3IYaT H1S sy YT TRPR A gRT 3" WRHRY BrHbTS A
TN & T TR Bt 82

1. 3T M|
2, Y TS|
3, YU U

4, [STHIYT

Correct Answer :-

o XOTHYTI

5) 9T - 919 {1 g7 &9 & Siaid 31Td 2
1. fToRie g

2. qidfe : PR

3. qargard g

4, Y - e

Correct Answer :-

. O : TRY®

6) WS 1A U Sita-T & o1 YT BT quiH fohan T g1 a8
1. 30 A&d

2. P H

3. 30 Sfia

4. 39+ Tl Sfia=

Correct Answer :-

. 309 Y

7) Fow srdafu s 2
1.+

2. [+ @a



3.7+ =89
4. T+ 3qa

Correct Answer :-

. M +q

9) <uep &1 34 g:
1. Ug, 3R

2. IR, 4@

3. U, AR

4. 3R, et

Correct Answer :-

. T, 3R

10) ‘Uge Pal A UBTAd gldl 22
1. Gy

2. AR
3. ATTR

4, dIYR

Correct Answer :-

11) Bvc BT T Far3i:
Rl SR R AT Y&, ST A A E |



PR AYR Y UG ¥, 5 @ W@ E
1. AT &<

2. BRIMIfdhT &g

3. Sl ¥<

4, Micip B¢

Correct Answer :-

. gififaer o<

12) B+g BT ATH FaTa:

oH & W H Syl A HH ST
AqB T R & HeH tRAT 81|
[ HTal & HATTH HTIHT URAT & |
At a9 fore | Hft SR At I
1. AT &<

2. BRITifcIenT g

3. Il B

4, TiifdpT B¢

Correct Answer :-

. TP B

Correct Answer :-

. SIGHIGT

14) I3 BT Y DS °:
1. ?(d’+’a'?{r

2. ETJH'sf'QT



3. Go+S¥
4. QO+E

Correct Answer :-

. a3
15) ‘G&IR BT Y e §:
1.8+
2.3+
3.gd+dR
4.G+W

Correct Answer :-

16) RUMMTe ya o A yafed gl 81
1. HETUId

2. JUYT

3. ATgyid

4, fa=mmerur=

Correct Answer :-

17) Frafafed dfeaa § sl 82

T I & Sicl §H 31U AT 39T XM |
AT §HR 81 8141 § 30T 7Y e wRele 1|
1. 3%

2. TA Y

3. HldkI ¥™

4, IO

Correct Answer :-

o PIJUIRY



18) frrafuled dfiRai A sl A< 82
TR AT dTd ot ot 4R g |
g B, Hish €4, & Pe, Afe s
1. I8 38

2. PRI

3. XNid 3

4, Yfaa g

Correct Answer :-

19) frafefaa dfeaal o H19 a1 qor faemme 8:
1 TR A9 o Hgera

g gRa Fiad) gRa A1 9+ fo=ra |

1. i o

2. T o

3. JTE 07

4, 3{IST T[0T

Correct Answer :-

20) frafafea dfeaay & o ar T faeae 8:
fomTfs: G 471 & Vg g WA |

TG YT, TSIl Wadardl bRl |

1. LA 0T

2. YT 3JuT

3. AT

4, 31T 70T

Correct Answer :-

21) Fuferfea ufemn 9 fAifed srder sarg:



3T AT USt 3UR, UsT $ I UR |
<TUTT = AT §9 UR, 99 0P dad 41 39 IR |
1. SRR bR

2. TUFH ADR

3. 3ITa STADPR

4, 3UHT ADPR

Correct Answer :-

. SifaRmfa srAdR

22) fAyfefaa dfeaal o fAfga seeR Tart:
5T oI Srearl ¥gd, Siei [aTd & Ha |

gt By ada g, T SRA S 9all|

1, ARG SAHPR

2. Y 3CADBR

3. ©UDH AR
4, 3T PR

Correct Answer :-

. 3fad 3ABPR

23) ATY - T {5 o U & Sfavid oM §2
1. foiet g

2. T : FRefe

3. AT g

4, FRef® - e

Correct Answer :-

. TR g

24) 37 3R O BT RT3 32
1. G T 3R gERT

2. T &9 SR g

3. TG 57 SR ugel



4, G 3R GIRT

Correct Answer :-

. IRIT %9 3R GIRT

25) fagH o T U I ITAA § | 98t el ‘Ueaa HEandl gl
1, TP 5 & AR B3 IR ol Th G YR &

2. 91 S A § 3R B8 IR Al Higa gl

3. 9 §1d o § 31R % IR 1 T& O T ol

4. 9l gU e & 3R B3 IR I TP T T Bl

Correct Answer :-

. U2l ST A § 3R s IR N U T G &1

26) 91N 3R a9 31 3T 7:

1. Y 3R o

2. G SR X6 BT RIF
3. 9o SR gl

4. THar SR Ty

Correct Answer :-

. IR SR IEH BT RIM

27) AP o TH BT R UTa 82
1. HY[Hh Y

2. A% 3™

3. dIHH ™

4, GHA T

Correct Answer :-

o SHE T

28) HfSTHHRUT HId THY ST G fob:
1, ToRIvOTl &7 3FTaRaS YO &1 |
2. foRIvOT &7 3FTaRa® YaRT 9 B |



3. T BT ATGRIH TIRTF B

4. TTARYde® 91! &I Iwifad Be|

Correct Answer :-

. TORIvOT &7 SIS TaRT 7 B |

29) &R HRA THY & ¥ -

1. JUHT TFId TS ePRI BT YN 3= DY |
2. SUHT EFIA SIS SfibRI BT TAIT Td HI |
3. IUHT TFIA 31 SfIPRI BT YA T PR |

4, IUHI TFId T[S SHRI BT TN B |

Correct Answer :-

« SUH EVId 3¢ BRI BT TIHT 9 B

30) Y[ SN YT &1 Y for:
1. B 3R Y
2. BR IR Tha
3. HX 3R Ahar
4, HR 3R WG

Correct Answer :-

. PR AR g

31) fura T AT Sl Pt eem T3
1. fosga

2. Tl
3. faema
4, Tplad

Correct Answer :-

32) <3fae THRP HeTax HT 3rf w82
1. TR gEA



2. TS U T 7 31
3. 3{o] I |

4, IIH AT

Correct Answer :-

A EREEEREIRI

33) “HUTH @ BT JTHTRIS fave w1 82
1. Yg I 3fga
2. Y9 I gad

3. YT 9 3P
4. 4T I g

Correct Answer :-

- WAY 3P

34) GBI H ___ W g1 I1RT, U W b 3id H D¢ URad= g1 A1e¢ a4T I & 3 A
AT 3 BT T gI-1 AR T

1. 3176 T 313 ¥ 31l

2. TS Y HH

3. 9: A1 S: Y 3ffh

4, T 1 I TS 31f¥eh

Correct Answer :-

o3& 13713 W S

35) UTRUTS 2Usg TOPIC &1 FaT 34 &2
1. foog

2. YGRUT

3. UT3AhH

4. Ulé

Correct Answer :-



36) UTNHTTUS e APPLICATION &1 T 31 §2

1. g

2. UR=Y
3. UTdeH
4. 3fTde

Correct Answer :-

37) UTRYTIYS g CABINET &7 &1 31%f 32
1, SfiSarerm

2. STqYHT g

3, HiAHsd

4, Udadl

Correct Answer :-

38) ‘HHUI WA BT TIRIT UTT FIT 8?2
1. 31y

2. Qi

3. faamT

4, H=T[

Correct Answer :-

39) u?aﬂa@q%ﬁrqéwm BT 3= g1 91 Heu1 & 98 Ug fafgq ueh &
JUH 8|

1. DRI
2. SR
3, a1 o
4, dlfred

Correct Answer :-



40) “qH’ PI fAe¥ 2eq 8-
1, =y

2. 3URIG

3. PP

4, P

Correct Answer :-

41) <31 A HeTa¥ 1 w1 34 82
1. ST

2, ST ST

3. gIE ST

4, B ST

Correct Answer :-

. BISAMI

42) i IRA A BT MHUTH SHP & |
1. Tsg Qfad

2.9¢

3,700
4,34

Correct Answer :-

43) QW T BreH: ToR fAaAT | HT Y[ I 3:
1, TR DI GHI o Raarsf

2. Gl DI e TTeR Raarredt

3. et it 1 Pred MoR

4, faean gl &l MR BHICH




Correct Answer :-

. TR Bleh GHi o1 Raerrsit

44) Ty 190 B IR I | gl

TeIfY ag Wl o+ T fhv off ST saaeR Auarguf 2 10
1. I8 T 7 T O off ST R eyl B

2. T3 & ST WR Y SYHT SHaER THargul g1

3. Seife a8 Hal o 7 bR o SuepT sagR Heguf 1
4, T 98 T & T JUIRY I HAGR THAT B

Correct Answer :-

o T o9 SH WR 4 IUHT FIER FHATYU B

45) SEfr Taiuarh 8:
1. et

2. BT

3, WK

4. TS

Correct Answer :-

46) “STATIN' YMog D1 TAIAAT=I &
1. 9FR
2. IR

3. felk
4, gRr

Correct Answer :-

47) RITH UG pY fra T B18?
1. I

2. A% 3T



3. Yid ™
4, IR

Correct Answer :-

48) TR a1 HI Fry 1R § gar:

RyH B R RIS WY 3o g St 81

1. TR B R R 4t ufdea g1 S 21

2, IR B TR IRFRYT ot 3rgpet &1 et 7

3. S e e SiTe & o uRRefay oft wfcigpat 81 it 21
4. o9 Ufked foram ST € ad uRfufa off sried 81 St ]

Correct Answer :-

o TS GRS e STTe 2 e R o et & ot 21

49) TE IR HI Ty I1F1 A Igal:
X@T A G 3T AT TA DI BRI
1, @1 Y G o o & 3T 1Y =)’
2. GT S G 1Y I D) eI’

3. W G gl 78 W T’

4. WYY 3T Y oA B BTl

Correct Answer :-

o W1 G BT & I Ty Iq 1’

50) IR AT B Y a1 A dgal:
T 1§ B AR U AT 1’

1. 1 BT S GIST 98 TR UM S’

2. SR BT o SIST 9 gt IR U SfrTP
3. ‘F1 31 B W UG AT’

4. ‘T SIS 3R AR UMY 371

Correct Answer :-

. T SIST 3R A UM SRTI°



51) oI R 3rgus frar maT 8
1. 3gffRd

2. 3Tgd

3. TR

4, SR

Correct Answer :-

52) I I WS drelt & T HId 82
1. T8l
2. TEl
3. 781
4. T8l

Correct Answer :-

53) RPHT B T dcll § T Hgd 22
1. BT G 1 fSfe

2. BT ST aTell

3. WIfaRGR

4, 34U

Correct Answer :-

54) AT’ BT AHTRIS favrg 71 82
1. AET &g

2. Ri@

3. Uiy

4, AEH g Sl &d

Correct Answer :-



55) <faer &1 3 &

1. 4, TR H Sefl fg, AreT

2. fade, TR | o fg, el
3. foere, TR & s fg, e
4, foeTe, IRR & Fran fug, dven

Correct Answer :~-

. fade, ;MR A wra g, disT

56) LT 3R T BT 34 &
1. TNET FMT 3R s

2. AT 3R R

3. fireT SiR ferme

4, TORYAT SR 311eT 91

Correct Answer :-

o AT SIR ORI

57) ¥aa R ot gfef F:

T GIARRI_____ @ sl
1. B &

2. feadaA

3. G Wi

4, Hool g B 3

Correct Answer :-

58) Yot R Bt gfel H:

JTeTHd BRI gHR § R , BT $ 81
1, BTSN A1d Ied §

2. BTSN ©1S 4ISd &




3. BTGl Ols §93d 8

4. BTSN STeTSl IS &

Correct Answer :-

a0 A N A
. PEST OIS GISd &

59) Yo =i @t gfef -

gaAaier e g g, 9 9ae! T SR R sia-Heg o gl
1. Th 3G YT

2. Th 9 ol ST

3. S # RR &

4. U @01 Y D! Gl

Correct Answer :-

. TS A3 Y b gl

60) R B YIS B3 arel TR
1. S qor

2. T T[0T
3. SIS U1

4, TG T[0T

Correct Answer :-

61) Y TR I WTH I U 3R I f3U 0 u=zq &1 IR 3

AT HT BRI g1 AT & Ui IR g1 361 7 Had AFddT & AT asie-e g, a-- Sgfaa
Wi 81 awga: gurd A7 9} § S Aad1 B SATeR BT Sl 8, PR Jobdll ¢ | Had 3T [b

DIs AT gfagiF § ST SRS; 98 YUl &7 a1 gr 38T, Sue &1 WY urt =€) g+ =nfee | wrea <t

3T W F O § 7% A4 8, WA &1 9d98 w1 81

UY: JHT &1 faed 2 feif@u|
1. 3THT

2. HUHH



3. gRHM
4, 3IUHIAT

Correct Answer :-

62) I TR B W I U 3R 1 3T T8 uzq &1 IR 3

AT BT BRI 51 AT & YT 3G g1 ST 7 had AT $ [ TSP ¢, 9 rfd
Wi 81 aega: gurd A7 9} & St ATad1 B SATeR BT Sl 8, PR Jobdll ¢ | Pad 3HIE (b
BIS AT gl © 31YaT GIs; a8 YOI &1 al gr TeT, Juem &1 urr 78 1 =nfee | aea )
3T T F 4R § 7 A4 8, WA &) 9d98 T 8l

uy: g uge fod wer T 32

1, TUT TSI I BT 71§ Sl AT BT 3R HRAT Sl 5|

2. YT T 39 8T 71 § Sl HHadT BT SFTER AT S 6|
3. T AT I HgT T § Sl SATAIIT BT TR PHRAT ST 5 |
4, TRATS TTST I FHET T § S AT BT 3R HRAT ST § |

Correct Answer :-

- YT T Y HET AT 3 S} HIAG BT MR AT Sl 3

63) I TR B W 4 Ue 3R < f3U T8 u=q &1 IR 3

AT BT PR B AT & Ui 3SR 81 I6T1 7 $ad ATl & [T a=ieH® 8, 334 g
Wi 81 avga: gurd A7 9} § S ATad B SATeR BT Sl 8, PR Joball ¢ | Pad 3T [

s A7 fSe 1 ¢ 3rudT GRE; 98 YUIT &1 ot gR T8T, IS &1 1 U 781 g1 =nfeq | #ia <t
ST G & IR g P A4 8, HIa= &1 §a 9y a1 8l

UY: AT RN T & TR g2

1. ITFd G & T § Fifoh 98 3HMd g 3R S8R B! 9498 Hia 5
2. AT G & 17 § i a8 AT § iR $3R 31 Ta9s Hid 2

3. T4 G & IRy § il 98 M § AR SR PI SATHiA g

4, TG Y & 7Y g1 § s 98 1 § AR SR ST 998 Hia g

Correct Answer :-

. HHd YHH & A7 § Hifs I8 HId & 3R S4B Ga9F Pid 5



64) S T D! M 4 TS 3R 4 T T g H13IwX ¢

AT BT BRI §1 AT & U 3SR &) o1 7 Had Addl & T TwioH® ¢, 93 R
Wt B 1 axge: aurd agw o) @ i Aradr B SM1eR AT Al 3, R DT 8 | Had Al B

B3 T fSEH § S1UaT gfi¥s; 98 YN 71 Y g 38T, Sued &1 ot ur =gl g1 =nfee | aria it

ST THH & g9 ¢ {5 A4 |, YT 91 Jd9g T 2|

Y ST T BT AR G -

1. ATFA $54R &1 399 Pia 81 IV Sd1 [P Ffaed 3R TRIS BT T 3R JeTadT H1 ey aul
forait & gom e} =t =R Tl

2. U4 $3R D1 3JUH Hid 81 S SR Ydd glgal 3R TR &1 T 3R JgRidr ST 31ty
T farsil 9 oI 8] S A1y

3. AT 3R PI 3UH Hid T 1 3 IERAT TP gfapi SR TRia! 1 T 3R TgIdl ST 1T
T farell § oI 8] S A1

4, AMA 3R D1 I0H Hid 1 I IR T4 Jfaa AR SHRT &1 T SR Fgrdl HRAT1 91gy
T ot 3 gon =181 =1 =gl

Correct Answer :-

. M4 SR PI 3099 Bid 81 IV ISRAT TP Ffgel IR TRIs! BT I 3R JeTIaT R TRT
YT fobll & oI 781 =+ 1R

65) I TR BT W 4 Ue 3R A1 f3U 10 u=q &1 I 3

AT HT BRI 51 AT & Ui ISR 81 361 7 Had AHadT & AT AsIo-® g, 9 gfa
WY 81 avga: gurd Ags 9} & S ATadn B SATeR BT Sl §, PR Jobdl ¢ | $ad 3T [

D3 A9 fagi 8 34T SRS; 98 YUl &1 1 gR 38T, Sue &1 W urr =€) g =nfee | wrea

SHRIT T & 91T 3 {6 74 8, W &1 998 w1 8l

T: S T BT Sad RMy® o)
1, ATad
2. AHGd
3. TGl

4, HIAIdT

Correct Answer :-



66) S ULl I STH | Ue 3 A feT T U=H HT IR ¢:

v T W gy @,
g T faum we g
sia wigi & fpe Taar &,
YRV $HR T4-Siiq-Had |
g T i g, fored.
99 | PTaR Sitd g |
9T a7 YRUI HRAT R,
DAYl T TR

UY: 4H H HTAR B giaT 52
1. BT 99 Y HIR 1Al 5|

2. o 91 ¥ HAR graT g
3. TG 4 Y HTR A1 3|
4, g 91 Y BIR 12|

Correct Answer :-

. fGT 47 T HIR a1 g

67) 9 U D! W A Ue 3T - f3T T8 vz 13wk &

v warma w3 gy @,
Jog U fasm wa 3|
sia oTgl & fpe T €,
YRV H A9-Slia1-Haa |
g T wfvar g, fored.
Y | BT Siq AT
AR T YRV AT R,
SII-FUl 93 TR |

UY: B 7 Yog BT WA [$T UPR I B HET18?
1. IS 7 BT WG HI A A DI BBT 61




2. B3 T JG FT WHT FHTdr w3 & weT gl
3. B9 7 TG BT W AR ¥ & S el g
4, BT 7 TG BT WA AT Y I3 B Ha1 |

Correct Answer :-

. Y TG BT W Refodi @ s B per g

68) 3 U] D! W A Ue 3R - f3T ¢ vz ST 3wk &

A @ R gy @,
g U faym w2
Sia wigT & fpR Taar 8,
YR B A9-SHI-Hd |
g U Tfvar g, forad.,
99 | PTaR Sita T |
B3 T URUI BRAT §,
PHAT-FU IR TETHR |

UY: B9 7 §og TP AR 8, ) PeT 2

1. TG 71e] & A FRAOR TOHM § SR §9 oFF $U et § 8T R SiareT 947 IR YR il 5|
2. TG -1E} & T FRER THM § 3R 39 Jog St aTerd H 18T $H Siare a1 TRR YR Bl ¢ |
3. T -Te & T FARaR TR § 3R 39 g B0t et H g1 R ShareT =1 IR 4R01 =l B
4, Y TS & T FRER TTaHH g iR 30 g7 TUT et § 8T R SHaTeT 141 TRR YR R g |

Correct Answer :-

« TG TS & G ARG TAEE 8 IR 59 g Ul et § 78T HR Share 17 IRR YR Bl ¢ |

69) S U<l ! W A U 3R I faT 74 ¥z &1 IR <

vl wamTa Rt g @,
g U fasm wia g1
Siiq 8T & e Faan g,
YRUT B Ad-lla-daa |



9 | BT otq TGP
5= A YRUT BRAT B,
BHI-F Ul I TR

UY: BRT-EU 3 & {5 SR BT yaT 82
1, Y 3APR
2. TUDH AABR
3. TUIA 3APR
4, SUHT 3fAPR

Correct Answer :-

o TOP ADPR

70) 3 UL P A A U 3ii¥ - 3T 7T y== &1 I« &

o w@ra s gy @,
7Y U Ay =@ B
sia ogt & i Taar @,
YR R 9-SHa-Haa |
g T Tfvar g, forad.,
Y | BT Sitq TR |
P T YR PRAT R,
PHT-FY1 I TR

TY: g D1 AT T T T T 82

1. TP TgT Sigall BT TR Thax fAYH BT § 3R IR 781 Jeaar gl
2. TS BT St BT IR TP B [IYTH BT § 3R TR IS BT 8|
3. b TET H™ T IR THHR Y BT & 3R IR Feaidl Tedl g

4, TP T8 T HT IRR I §U IRR TEAdT 38T 8

Correct Answer :-

. Fifb T8T T BT IRR Fhab [AYTH Pl & 3R IR sadd @l 2|



Topic:- General English

1) Choose the appropriate preposition for the given sentence:

The model youask _____is out of production.
1. to

2. at

3. with

4, for

Correct Answer :-

e for

2) Choose the appropriate preposition for the given sentence:

These brands are well known ____ you.
1. for

2. with

3.in

4. to

Correct Answer :-

3) Choose the appropriate preposition for the given sentence:

We can offer you these goods ____ market price.
1. to

2. below

3.on

4. in

Correct Answer :-

e below

4) Choose the appropriate prepositions for the given sentence:



The city will take a long time to recover ______ the damage caused the earthquake.
1. since, through

2. from, by

3. with, during

4. against, into

Correct Answer :-

5) Choose the appropriate articles for the given sentence:

The jury will hold ___ emergency meeting half hour before announcing its decision.
1. an, an

2.3,2a

3.an,a

4, a, an

Correct Answer :-

6) Choose the appropriate articles for the given sentence:

diploma in Computer Science from _______ university in India is recognised globally.
1. A an
2. An,an
3.Aa

4, The, the

Correct Answer :-

7) Choose the appropriate articles for the given sentence:

importance of having backup of all data in your computer cannot be minimized.
1. A an

2.A a



3.An,a

4, The, a

Correct Answer :-
e The, a

8) Choose the option that best transforms the given sentence as directed:

My father is speaking to the man. His shop was burgled.

1. My father is speaking that man who had his shop burgled.
2. My father is speaking to the man and his shop was burgled.
3. My father is speaking to the man whose shop was burgled.

4. Speaking to the man is my father whose shop was burgled.

Correct Answer :-
* My father is speaking to the man whose shop was burgled.

9) Choose the correct form of verb for the given sentence:

You look very pale,areyou ____ ?
1. well

2. suffer

3. sick

4.1l

Correct Answer :-
o ll

10) Choose the correct form of modal auxiliary verb for the given sentence:

| have to work hard. | _____ pass this time.
1. might

2. can

3. could

4, must

Correct Answer :-



11) Choose the correct form of adverb for the given sentence:

The photograph brought back old memories.

1. lethargically
2. bluntly
3. instantly

4, lazily

Correct Answer :-
e instantly

12) Choose the correct form of adverb for the given sentence:

They visit their parents quite
1. frequency

2. innocently

3. regularly

4, sincerely

Correct Answer :-
« regularly

13) Choose the correct form of adjective for the given sentence:

Heis a member of the team. He is willing to give his time and energy to anything he undertakes
to do.

1. compassionate
2. callous
3. committed

4, insincere

Correct Answer :~-

e committed



Choose the correct form of expression to complete the sentence:

She caughta ___ of the thief as he made his getaway.
1. glance

2. flash

3. sight

4, glimpse

Correct Answer :-

* glimpse

15) Choose the correct form of expression to complete the sentence:

Work at least six hours a day, or you cannot be sure of
1, fame

2. independence

3. popularity

4, success

Correct Answer :-

e Ssuccess

16) Choose the correct form of tense for the given sentence:

| with my father last night.
1. talk

2. spoke

3. speak

4, have talked

Correct Answer :-

17) Choose the correct form of tense for the given sentence:

Every Saturday the class on the tenth floor.

1. meets



2. will meets
3. meet

4, met

Correct Answer :-

s meets

18) Choose the correct form of tense for the given sentence:

| promise thatl ____ to work on time every morning in the future.
1. am getting

2. will get

3. get

4. would get

Correct Answer :-

o will get

19) Choose the correct form of tense for the given sentence:

Whenever | him, he makes rude remarks about me.
1. see

2. have seen

3. am seeing

4, saw

Correct Answer :-

20) Choose the most suitable determiner for the given sentence:

The old man had _______ heart attack this morning.
1. another

2. some

3. more

4, much



Correct Answer :-

e another

21) Choose the most suitable determiner for the given sentence:

Therewas _____ food to feed an army.
1. most
2. more
3. much

4, enough

Correct Answer :-

e enough

22) Choose the appropriate articles for the given sentence:

presentation you sent me yesterday is
anyone.

useless one; it has no value for either me or

1. A an
2. The, a
3. The, an

4, The, the

Correct Answer :-

23) CANCELLED

Choose the correct form of adverb for the given sentence:

With sneakers on, the nurse could move more ____ among the patients.
1. quickly

2. carefully

3. slowly

4, correctly

Correct Answer :-

e quickly



24) CANCELLED

Choose the correct form of adjective for the given sentence:

Knowing no better, he used very ____ language.
1. inappropriate

2. spontaneous

3. accurate

4, correct

Correct Answer :-
e inappropriate

25) Choose the correct form of verb for the given sentence:

I my friend to lend me his caravan for my trip to the country.
1. counseled
2. suggested
3. persuaded

4, proposed

Correct Answer :-

e persuaded

26) Read the passage carefully and answer the question given below:

A few weeks ago, if you saw someone wandering around your neighborhood staring at their
phone, you might have assumed they were lost. Now, it would not be too much of a stretch to
think that they are busy locating, capturing, battling or training fictional creatures called
Pokémon. Welcome to Pokémon Go, the free-to-play location-based augmented reality game
that has taken the world by storm since its release on July 6, 2017. For those that are unfamiliar
with the Pokémon brand and wondering what the latest hoopla is all about, here is a brief
rundown.

Pokémon first emerged in 1995 as a Nintendo video game. Through the decades, it has grown
into a massive franchise, which includes trading card games, animated movies and television
shows, toys, and comics. While popular, it was primarily aimed at children and nostalgic adults
who played the game when they were young. Ironically, the idea of creating the augmented
reality game that has made Pokémon a household name came from an April Fool’s joke.



On April 1, 2014, Google Inc. announced “Pokémon Masters,” an app that would allow people to
hunt the monsters using Google Maps. Though just a prank, the ensuing enthusiasm caught the
attention of San Francisco-based startup Niantic Labs and its founder, John Hanke. The team,
whose first augmented reality mobile app game, Ingress, has been downloaded more than 12
million times, decided to turn Google’s prank into a reality by partnering with Nintendo to create
Pokémon Go.

Similar to previous Pokémon games, players travel the world to capture and battle the monsters
in their quest to become the greatest Pokémon trainers. However, while the trips in the previous
games were imaginary and conducted within the confines of a room, Pokémon Go forces players
to get off their chairs and venture outside. That's because the game uses the phone’s GPS and
camera to help players “find” Pokemon in the real world, as well as discover various landmarks
or Pokéstops, which offer items and experience points. This could mean finding a Rattata in your
backyard, a Pidgey around the block, or a Pokéstop at your favorite neighborhood ice cream
parlor.

Question: According to the passage, what is the greatest difference of this latest game?
1. It is primarily aimed at children and adults who played the game earlier.

2. All of the above.

3. The games are imaginary and conducted within the confines of a room.

4. It forces players to get off their chairs and venture outside.

Correct Answer :-

« It forces players to get off their chairs and venture outside.

27) Read the passage carefully and answer the question given below:

A few weeks ago, if you saw someone wandering around your neighborhood staring at their
phone, you might have assumed they were lost. Now, it would not be too much of a stretch to
think that they are busy locating, capturing, battling or training fictional creatures called
Pokémon. Welcome to Pokémon Go, the free-to-play location-based augmented reality game
that has taken the world by storm since its release on July 6, 2017. For those that are unfamiliar
with the Pokémon brand and wondering what the latest hoopla is all about, here is a brief
rundown.

Pokémon first emerged in 1995 as a Nintendo video game. Through the decades, it has grown
into a massive franchise, which includes trading card games, animated movies and television
shows, toys, and comics. While popular, it was primarily aimed at children and nostalgic adults
who played the game when they were young. Ironically, the idea of creating the augmented
reality game that has made Pokémon a household name came from an April Fool’s joke.

On April 1, 2014, Google Inc. announced “Pokémon Masters,” an app that would allow people to
hunt the monsters using Google Maps. Though just a prank, the ensuing enthusiasm caught the
attention of San Francisco-based startup Niantic Labs and its founder, John Hanke. The team,
whose first augmented reality mobile app game, Ingress, has been downloaded more than 12



million times, decided to turn Google’s prank into a reality by partnering with Nintendo to create
Pokémon Go.

Similar to previous Pokémon games, players travel the world to capture and battle the monsters
in their quest to become the greatest Pokémon trainers. However, while the trips in the previous
games were imaginary and conducted within the confines of a room, Pokémon Go forces players
to get off their chairs and venture outside. That's because the game uses the phone’s GPS and
camera to help players “find” Pokemon in the real world, as well as discover various landmarks
or Pokéstops, which offer items and experience points. This could mean finding a Rattata in your
backyard, a Pidgey around the block, or a Pokéstop at your favorite neighborhood ice cream
parlor.

Question: Which of the statements is TRUE according to the passage?

1. On April 1, 2014, Ingress became the first mobile app.

2. Anyone wandering around your neighbourhood might have lost his or her way.
3. Pokémon first began in 1995 as a Nintendo video game.

4. San Francisco-based startup Niantic Labs was Google’s first working lab.

Correct Answer :-

» Pokémon first began in 1995 as a Nintendo video game.

28) Read the passage carefully and answer the question given below:

A few weeks ago, if you saw someone wandering around your neighborhood staring at their
phone, you might have assumed they were lost. Now, it would not be too much of a stretch to
think that they are busy locating, capturing, battling or training fictional creatures called
Pokémon. Welcome to Pokémon Go, the free-to-play location-based augmented reality game
that has taken the world by storm since its release on July 6, 2017. For those that are unfamiliar
with the Pokémon brand and wondering what the latest hoopla is all about, here is a brief
rundown.

Pokémon first emerged in 1995 as a Nintendo video game. Through the decades, it has grown
into a massive franchise, which includes trading card games, animated movies and television
shows, toys, and comics. While popular, it was primarily aimed at children and nostalgic adults
who played the game when they were young. Ironically, the idea of creating the augmented
reality game that has made Pokémon a household name came from an April Fool’s joke.

On April 1, 2014, Google Inc. announced “Pokémon Masters,” an app that would allow people to
hunt the monsters using Google Maps. Though just a prank, the ensuing enthusiasm caught the
attention of San Francisco-based startup Niantic Labs and its founder, John Hanke. The team,
whose first augmented reality mobile app game, Ingress, has been downloaded more than 12
million times, decided to turn Google’s prank into a reality by partnering with Nintendo to create
Pokémon Go.



Similar to previous Pokémon games, players travel the world to capture and battle the monsters
in their quest to become the greatest Pokémon trainers. However, while the trips in the previous
games were imaginary and conducted within the confines of a room, Pokémon Go forces players
to get off their chairs and venture outside. That’s because the game uses the phone’s GPS and
camera to help players “find” Pokemon in the real world, as well as discover various landmarks
or Pokéstops, which offer items and experience points. This could mean finding a Rattata in your
backyard, a Pidgey around the block, or a Pokéstop at your favorite neighborhood ice cream
parlor.

Question: What is the passage all about?
1. Pokémon Masters

2. Pokémon Go

3. Pokémon gamers

4., Pokéstops

Correct Answer :-

e Pokémon Go

29) Read the passage carefully and answer the question given below:

A few weeks ago, if you saw someone wandering around your neighborhood staring at their
phone, you might have assumed they were lost. Now, it would not be too much of a stretch to
think that they are busy locating, capturing, battling or training fictional creatures called
Pokémon. Welcome to Pokémon Go, the free-to-play location-based augmented reality game
that has taken the world by storm since its release on July 6, 2017. For those that are unfamiliar
with the Pokémon brand and wondering what the latest hoopla is all about, here is a brief
rundown.

Pokémon first emerged in 1995 as a Nintendo video game. Through the decades, it has grown
into a massive franchise, which includes trading card games, animated movies and television
shows, toys, and comics. While popular, it was primarily aimed at children and nostalgic adults
who played the game when they were young. Ironically, the idea of creating the augmented
reality game that has made Pokémon a household name came from an April Fool's joke.

On April 1, 2014, Google Inc. announced “Pokémon Masters,” an app that would allow people to
hunt the monsters using Google Maps. Though just a prank, the ensuing enthusiasm caught the
attention of San Francisco-based startup Niantic Labs and its founder, John Hanke. The team,
whose first augmented reality mobile app game, Ingress, has been downloaded more than 12
million times, decided to turn Google’s prank into a reality by partnering with Nintendo to create
Pokémon Go.

Similar to previous Pokémon games, players travel the world to capture and battle the monsters
in their quest to become the greatest Pokémon trainers. However, while the trips in the previous
games were imaginary and conducted within the confines of a room, Pokémon Go forces players
to get off their chairs and venture outside. That's because the game uses the phone’s GPS and



camera to help players “find” Pokemon in the real world, as well as discover various landmarks
or Pokéstops, which offer items and experience points. This could mean finding a Rattata in your
backyard, a Pidgey around the block, or a Pokéstop at your favorite neighborhood ice cream
parlor.

Question: The game is played using which of the following elements?
1. Camera only

2. All of the above

3. Google Maps only

4. Mobile’s GPS only

Correct Answer :-

e All of the above

30) Read the passage carefully and answer the question given below:

A few weeks ago, if you saw someone wandering around your neighborhood staring at their
phone, you might have assumed they were lost. Now, it would not be too much of a stretch to
think that they are busy locating, capturing, battling or training fictional creatures called
Pokémon. Welcome to Pokémon Go, the free-to-play location-based augmented reality game
that has taken the world by storm since its release on July 6, 2017. For those that are unfamiliar
with the Pokémon brand and wondering what the latest hoopla is all about, here is a brief
rundown.

Pokémon first emerged in 1995 as a Nintendo video game. Through the decades, it has grown
into a massive franchise, which includes trading card games, animated movies and television
shows, toys, and comics. While popular, it was primarily aimed at children and nostalgic adults
who played the game when they were young. Ironically, the idea of creating the augmented
reality game that has made Pokémon a household name came from an April Fool’s joke.

On April 1, 2014, Google Inc. announced “Pokémon Masters,” an app that would allow people to
hunt the monsters using Google Maps. Though just a prank, the ensuing enthusiasm caught the
attention of San Francisco-based startup Niantic Labs and its founder, John Hanke. The team,
whose first augmented reality mobile app game, Ingress, has been downloaded more than 12
million times, decided to turn Google’s prank into a reality by partnering with Nintendo to create
Pokémon Go.

Similar to previous Pokémon games, players travel the world to capture and battle the monsters
in their quest to become the greatest Pokémon trainers. However, while the trips in the previous
games were imaginary and conducted within the confines of a room, Pokémon Go forces players
to get off their chairs and venture outside. That’'s because the game uses the phone’s GPS and
camera to help players “find” Pokemon in the real world, as well as discover various landmarks
or Pokéstops, which offer items and experience points. This could mean finding a Rattata in your
backyard, a Pidgey around the block, or a Pokéstop at your favorite neighborhood ice cream
parlor.



Question: The underlined word ‘ironically’ in Paragraph 2 of the passage means:
1. Honestly

2. Sadly

3. Undoubtedly

4. Sarcastically

Correct Answer :-
« Sarcastically

Topic:- General Knowledge

1) A scores more runs than B but less than C. D scores more than B but less
than A. Who is the lowest scorer?/ A 3 B ¥ 3if¥® ¥ 9910 TRg C A $HIF §-I| D
= B 3 3@ I TR0 IR A A $H I 91 | {0+ 969 HH 31 a2

1.D
2.B
3.C

4. A

Correct Answer :-

- B

2) Find the missing character./ ﬁﬁﬁmﬁl

W

1. F
2. L
3.G

4. H

Correct Answer :-



3) 1f you are gth person in a queue starting from one end and 110 from
another end, what is the number of persons in the queue?/ uﬁarrcrwﬁw
BR T 71 safd § aUT g BR A 113 VM R &, $aR A Afgaal s 6 fpa-i 82

1. 19
2. 21
3.20
4,18

Correct Answer :-

4) In the following question, select the related letter/word/number from the

%:%Ilgn alternatives./ FEfafad uza # fow e foweul & & TWfRIa sieR/ree/HEn oI
I

Lid : Box:: Cork:?/ g ; e :: Pib:?
1. Brittle/ TR
2. Soft/ YaraH
3. Bottle/?sﬁ?ﬁf
4, Light/ UPIRI

Correct Answer :-

. Bottle/ didd

5) In the following question, select the related letter/word/number from the

%%I_gn alternatives./ FERIAd U= # T T faeweul # I TR SieR/Rreg/Ha &I
|

5:124::7:7?
1. 342
2.343
3. 248

4,125

Correct Answer :-

e 342



6) In the given figure, the triangle represents people who visited Mysore,
the circle represents people who visited Ooty, the square represents people
who visited Munnar. The portion which represents people who visited both
Mysore and Ooty is/f3T T 3@ &, Fyst 37 @ &1 g=itar & Rrelv 89R &1 3w i,
god S A1 1 g=iteT & g1 St 1 k1 foban, vt 39 & Y guitan & Rrgin goR &1 gkt
fraT | ST 851 37 fRTal &1 gRITaT § o AR YT 3d! SH1 BT SIRT HId 82

1.D
2.B
3.G
4. C

Correct Answer :-
« C

7) DIRECTIONS: Solve the alphanumeric series given below:/ fAdw: :ﬂ%?ﬁﬂé
eRiHIg gaar Joft B g pe:

?, C4E, E6I, G8O, I10U

1. B2E

2. B2A

3. A2E

4. A2A

Correct Answer :-

« A2A

8) Which of the following is the smallest fraction?/ﬁﬂﬁﬁ'\‘lﬁ'@@ﬁﬁ{:{ﬁq
?

&
ap

U] o
ol =~
=1
[y

~1| v



o~ [\ Y ¥,

| s

4,

Correct Answer :-

9) Which of the following interchange of signs or numbers would make the

given equation correct?/ ﬁwﬁﬁﬁ-ﬁﬁamﬁm&ﬁ%m—aﬁaﬂﬁwﬁm
TIT FHIHRUT T FhI?

(18 +9)+3 x5 =45
1.+ and =/+ IR =

2.3 and 9/3 3R 9

3.18 and 5/18 3R 5

4. x and +/x 3R +
Correct Answer -

e +and +/+ 3R =

10) Which figure represents the exact relationship with the variables given

in questions? /P 3pfa Uy © feT 71T sraual & a1y ¥ ddey &1 gxifdt 82

A} c?') (8)

Hard bed, Sofa, Furniture/ 31%;33, @Tﬂ, BHRR
1.D
2.B
3.C

4. A



Correct Answer :-

11) 600 X 3250 <+ 10000 =7
1. 165
2. 180
3.195

4. 175

Correct Answer :-

« 195

12) With which of the following is the MPTRIFAC related to? / H.W. TGS -1
# 9 fras TwifRa 32

1. Transportation / URagH
2. Infrastructure Development / gﬁmﬁaﬁﬁﬁw
3. Investment Facilitation / fa=1 &1 gfaer

4, Education / fRrem

Correct Answer :-
« Investment Facilitation / ﬁ%rszra%gf%rw

13) In 1998, how many districts were carved out of Madhya Pradesh’s large

districts?/ 1998 ¥ 0T WX & §¢ foral § & fova= fora @1 fAafor gem ur?
1. 15
2.16
3.18

4.17

Correct Answer :-

14) If one third of the fourth of a number is 15, then three tenth of the

number is:/afe fHft TEN & TP [ATE BT TS NYUTS 15 T, 91 ST ST DT 3/10 FT N2

1. 36



2. 35
3.45

4. 54

Correct Answer :-

15) The Union Ministry of Health and Family Welfare has recently launched
the phase of the measles-rubella vaccination campaign./ FET W=y

3R URGR SeTvT WETed 3 €16 & § TRRLEAA APHI0 ARAEA D WRursT
URY frar g1

1. Third/dRRT
2. Second/gdRT

3. First/ugdl
4, Fourth/EﬁﬂT

Correct Answer :-

« Second/g¥XI

16) Shyam's present age is 3 times as his son. After 10 years, the sum of
their ages will be 76 years. Then the present age of Shyam is:/ TMH CHRCREIC
3T, 39 T A <9 T 3110 T 16,31 3T BT AW 76 T ) ST TATH B Il 301 B:

1. 42 years/42 GL
2. 45 years/45 ay
3. 39 years/39 L

4, 47 years/47 L

Correct Answer :-

o 42 years/42 ¥

17) A can complete a piece of work in 6 days while B can complete the same
work in 12 days. If they work together and complete it then, the portion of
the work done by A is:/A @Wﬁaﬁﬂ’rﬁmm%, Sdfe B B@ﬁmﬁuﬁ:ﬁ
A Har g 1afe Y 1Y BT e BT T B4 €, a9 A A fhae e &

=
|

ra |



(I RN

Wl

4,

Correct Answer :-

18) 18% of which number is equal to 12% of 75? /&g T &1 18%,75 ¥ 12%
& TRIER G2

1.2
2. 50

3.100

3
4,2

Correct Answer :-

19) Narmadapuram was the earlier name of the district of - / Qﬁﬁmmﬁlﬁ
DT YYH ATH YT1?

1. Shajapur/ RITSITYR
2. Balaghat/ dIdii™IIc
3. Hoshangabad/ BRI TETG
4. Singrauli/ﬁ"ﬁ?ﬁ

Correct Answer :-

. Hoshangabad/ gIRITETG

20) The LCM of two numbers is 1920 and their HCF is 16. If one of the
numbers is 128, find the other number. /3! T3 BT €. 9.1920 § IUTH.H.16 21 T
TS ST 128 B, 1 G} =T 1l B |

1. 320
2. 260
3. 240

4,204



Correct Answer :-

« 240

21) Two partners X and Y start a business by investing Rs.50,000 and
Rs.40,000 respectively. What will be the ratio of their profits at the end of
the year?/X 3R Y 3 T&h HTUR # HHRT: Rs.50,000 TUT Rs.40,000 BT Goil FFa=r ot af &
3 | I T srqura ¥ @y faerm?

1.1:4
2.1:2
3.5:4
4, 2:5

Correct Answer :-

« 5:4

22) The Basdeva singers always wear yellow and carry an idol of on

:%c%:r%_head./ THSAT TS U A T & 9% UgTd & 3 399 RR W Pt gfed
|

1. Lord Shiva/ HiaH 1@
2. Lord Ram/ HITdIH IH
3. Lord Krishna/ HidIH W[

4, Lord Brahma/ YidIH d&ll

Correct Answer :-

« Lord Krishna/ HIdI W]

23) Where is the Nilkanth Shrine and Nilkanth Mahal situated?/ He&e Hfew
3R e vew vl RG22

1. Panchmarhi/ G9!
2. Mandu/ ATg

3. Khajuraho/ @Gﬂlél
4, Orchha/ 3BT

Correct Answer :-

« Mandu/ Alg



24) A and B can separately do a piece of work in 9 days and 18 days
respectively. How long will they together take to do the work?/ A d4T B 3l

3T fpft BT B HHT: 9 TUT 18 fe) A FY T d §, A S FHdes 39 o™ ! fhaq fear &
P P 82

1. 9 days/ 9 faq
2.18 days/lSﬁ’l
3.10 days/lOﬁ:l
4.6 days/6ﬁ_"f

Correct Answer :-

« 6 days/6 fad

25) If the length and breadth of a rectangle are in the ratio of 3:2 and its

perimeter is 20 cm, then the area of the rectangle (in cm?) is: /& smaa ot
TS TUT TSTS BT 3IUT 3 : 2 § a4T URATY 20 T §1 A BT A6 1 B |

1. 24 cm?2/24 12
2. 36 cm?/36 THI2
3. 12 cm?%/12 92

4, 48 cm?/48 912

Correct Answer :-
e 24 cm?/24 IR

26) If the circum-centre of a triangle lies outside it, then the triangle is:/af¢

AABC &1 3T 3= Y & 918 8, a9 YT &:
1. Obtuse angled/ 3if& HI0T

2. Acute angled/mﬂm

3. Right angled/w

4, Equilateral / 9HdTg

Correct Answer :-

« Obtuse angled/ 3if& ®iur

27) Who was the first to use gunpowder in India?/ YR § GdUYH IR BT SUANT
P aTd Hfad B A?

1. Allauddin Khilji/ 3fcar3e Radsil



2. Nawab Siraj-ud-Daullah/ 7dTs RRTS I&-alag
3. Sher Shah Suri/ R =€ T

4, Babur/ dle}

Correct Answer :-

« Babur/ dleR

28) The Madhav National Park was previously the hunting reserve of the
Maharaja of — / HIYd APTT I UG H&I S HERIST $T ISR HRIE & UT?

1. Indore/é‘cﬁ?

2. Gwalior/ TaTferR

3. Jhansi/%TT»Sﬁ

4, Maheshwar/ TR

Correct Answer :-

. Gwalior/ﬂﬂ%ﬂ?

29) A bus moving at a speed of 45 kmph overtakes a truck 150 meters ahead
going in the same direction in 30 seconds. The speed of the truck is:/ 45 fdl/

HeT o1 T I Iad §9 TP a9, 399 | 150 HIeR 3T |1 I8 T &I UR HR § 30 AHUS T 90
At 81 g oI 71l Fa |

1. 24 kmph/24 fadl/ geT
2. 28 kmph/28 fdHl/ gel
3.27 kmph/27 f&Hl g1

4,25 kmph/25 TaHl/ HieT

Correct Answer :-

« 27 kmph/27 fadl/ gieT

30) When was the Kalidas Academy set up?/ ®TIGRT SHIGH! I RITUAT H9 g3 A2
1. 1979

2.1977

3.1980

4.1978

Correct Answer :-



31) When was the NITI Aayog formed?/ ffd IRIRT &1 78+ &4 gaIT UT?
1. 2016
2.2014
3.2015

4, 2013

Correct Answer :-

32) What sum of money will amount to Rs.520 in 5 years and to Rs.568 in 7

years at simple interest? /319 dl 4 IR ATYRUT AT A 5 901 A 520 =Y 3R 7 qul A
568 U4 gl SITEIN?

1. Rs.510
2. Rs.400
3. Rs.220

4, Rs.120

Correct Answer :-

» Rs.400

33) What is amount of the first loan agreement that India has signed with
the NDB for the development and upgradation of the district roads in

Madhya Pradesh?/ 9 US¥ § f7e Gg@! & faor ik S99+ & fore w=did & 91y Wk
J fraeit R & fore vea Hor awsia W e P E?

1. $350 million/ 350 fAfea TR
2. $250 million /250 faferaT Siar
3. $300 million/300 fafera SieR

4, $400 million/ 400 TR SieR

Correct Answer :-

. $350 million/ 350 fafera iR

34) What is the capital of Netherlands?/ HieTds P IS T B?



1. Amsterdam/ Q’FE_@&[
2. Vienna/ faun

3. Warsaw/ arar

4. Canberra/ &TeRT

Correct Answer :-

« Amsterdam/ Q‘RE@'H

35) Two persons enter into a railway compartment in which 5 seats are
vacant. In how many different ways can they sit?/ﬁﬂﬂ'ﬂ@iﬂ%%@ﬁw
2, Forad 5 Wi Tt 81 3153 3 foveq - fU1 R @ o I@d 82

1. 20
2.6
3.12

4. 36

Correct Answer :-

« 20
1 1
243 S=1 24554 o-=7
If Zthen* /afe 28, dx
1
1_2
3
2.5
5
3.2
2
4,5

Correct Answer :-

37) The Nadisukta hymn is in the - /TERIHT U HIH- A dg T 82
1. Sam Veda/ qadg



2. Rig Veda/ BT dg

3. Yajur Veda/ ﬂ\_{ﬁ?{
4, Atharva Veda/ 3iyd dg

Correct Answer :-

. Rig Veda/ H1dg

38) The average weight of 20 students in a class is increased by 0.75 kg
when one student of 35 kg is replaced by a nhew student. weight of the new

student (in kg) is:/20 faenfial &1 3iad asi 0.75 531 9 SITar 8, 99 v faendf fSraer
oI 35 f5uT & 31 v o faemdf g ufowuniua foear sirar 8, 2 faemif &1 9o+ 3 &9

1. 40 kg/40 T3
2. 45 kg/45 &1
3.50 kg/50 four
4. 35 kg/35 fobun

Correct Answer :-

« 50 kg/50 foam

39) By selling an article for Rs.105,a trader losses 9%. To gain 30% he

should sell the article at:/U® ATUR] TP a3 H! If 105 U & s°ar g, a9 Iq 9% $i
T BNt 81 30% a1y HUM & forg 3& avg &1 forw fvma W sw=T @nfewe?

1. Rs.150
2. Rs.126
3. Rs.144

4. Rs.139

Correct Answer :-
« Rs.150

40) The sum of two numbers is 40 and their difference is 4. The ratio of the
number is: /3! YBT3 T AT 40 B TUT ITPT 3R 4 7,91 ITPT SJUTH T B |

1.21:19
2.22:9
3.11:18

4.11:9



Correct Answer :-

41) Which of the following tribes believe themselves to be the descendants

of Dravid?/ fRufefaa # @ w19- W saenfa wu &) gfas &1 99 7 82
1. Bharia/ HIRAT

2. Gond/ Mg

3. Bhil/ Hi@

4, Baiga/ ST

Correct Answer :-

. Baiga/aTlT

42) The Chaunsath Yogini Temple belonged to the - /=16 TR AT H- It
AT & TET 32

1. 11 century/ 11 df wrarsdt
2, 9th century/ 9 CIEGIEe]
3. 10N century/ 10 o rdred)
4. 8th century/8 df wraTsdl

Correct Answer :-

. 10t century/ 10 CIRGIE

43) If 'pink' means 'yellow'; 'yellow' means 'white’; 'white' means 'blue’;
'blue' means 'red’; 'red' means 'black’; and 'black' means 'green’; then what
is the colour of clear sky?/ afe 'ﬂ?ﬂﬁ’f' &1 31 e %, drar &1 3 'W.?b—c{', g’ BT
3rdf <frar, irar o1 o arer, arer & e rwrem iR wrem &1 o BT 7, A 91w

ST BT T T G2

1. Green/ 83l
2. White/ It
3. Red/ did

4. Black/ Tall

Correct Answer :-

« Red/did



44) If 'LAME' is written as 'ODPH', how can '"MALE' be written in that code?/
gf¢ 'LAME’ &1 'ODPH' forar Wit 8, @1 59 %e # '"MALE' &1 f5a yoR fardi?

1. OPDH
2. DOPH
3. HOPD

4, PDOH

Correct Answer :-
« PDOH

45) If 'MACHINE' is coded as '19-7-9-14-15-20-11', how will you code
'DANGER'?/ 4f¢ 'MACHINE' &1 '19-7-9-14-15-20-11' $fed frarwimar g, ot
'DANGER' &1 %¢ &1 1?2

1.11-7-20-16-11-24
2.10-7-20-13-11-24
3.13-7-20-9-11-25
4,13-7-20-10-11-25
Correct Answer -

« 10-7-20-13-11-24

46) A copper wire is bent in the form of a square with an area of 121 cm?2.If
the same wire is bent in the form of a circle, the radius (in cm) of the circle

22
is (Take, " 7)1/ Rt 3 e g e e 121 90 1 a2
T O P & i e o, A g A B ] 7
1.8
2.7
3.12
4,14

Correct Answer :-
o 7

47) A train passes two bridges of lengths 800 m and 400 m in 100 seconds
and 60 seconds respectively. The length of the train is:/T® YeTs! &l o forat



TS T PHTT: 800 HITT TUT 400 HIEI & B UR B H HH:100 AHUS TUT 60 AHUS BT IHY
Ad 21 ¥aE) B TS fpal 22

1. 200 m/200 H.
2. 80 m/80 .
3.90 m/90 HI.

4. 150 m/150 Hr.

Correct Answer :-

« 200 m/200 H.

48) A mixture of 80 liters of wine and water contains 60 percent wine. How
much water must be added to make it 50 percent wine in the new mixture?/

AR 3R U= a1t 80 Tl YU & 60% AR &1 fra=r urt framan wire aife =u faygor &
AR 50% BI?

1. 18 liters/18 qlex
2. 12 liters/12 Tex
3. 20 liters/20 e

4, 16 liters/16 dle

Correct Answer :-

« 16 liters/16 ey

49) “It was a new Charter of Slavery”, who gave this statement about the
Government of India Act AD 1935?/ "Ug GRIdl 1 T& 4T TIYUNUSF YT, HURd GBI
AT 1935 & aR # I8 S fha- faar ur?

1. Mahatma Gandhi/ AgTET el

2. Jawaharlal Nehru/ SdTgR dd 7g&
3. Sardar Vallabhbhai Patel/ TRER IeqHHTS Ued
4, Subhas Chandra Bose/ gHIY 3g a1

Correct Answer :-

« Jawaharlal Nehru/ STATeR dld 9g%

50) Where was the State Minor Forest Produce Federation established?/ 30

WY 99 SUS S R & RITTT 51 g% A1?
1. Indore/ 3&R



2. Gwalior/ TTferR
3. Bhopal/ i) )

4, Jabalpur/ Sdcyr

Correct Answer :-

« Bhopal/ T

51) DIRECTIONS: In the question below are given few statements followed
by few conclusions. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁ%&’r: ﬁﬁﬁqwmﬁwﬁwaﬁ?m
91e P9 fropd fau TE &1 3y 3T T Sy Y I A @ W € aga gl @ e
wdia gia gf | It et ot ufee fibe au wifse i fiw e st & @ wi-w1 freed few e
Yl DT THHTT B A IR BT 3, T8 Jad 9 $9 o 3|

Statements:/ P Y-:

All books are pins./ 4 frdd, U &1

Some pins are desks./ $9 U, 3% gl

Conclusions:/ ﬁ'@lﬂfz

I. Some desks are books./Wéﬁ, mﬁ%'l

II. All desks are pins./ ?Tl-ﬂ@'%'d?, fﬂ'v'-[%'l

III. No desk is book./ @15 %, forara 181 &1

1. Only I follows/ %ad I 3FHRUI Hal &

2. Only either I or II foIIows/ao_dFT qr 1 a1 11 &I':NITUTW%
3. Only either I or III foIIows/%ﬁ gl I g1 I11 WW%

4, Only either II or III follows/ ddd &7 I1 9T 111 WW%

Correct Answer :-

« Only either I or III foIIows/av_dﬁ gqr I g7 111 &WW%

52) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁ%-‘!T: ﬂ%ﬁt{ﬂ({ﬁﬁ@ﬁw 3R IqH
91 $© fewd faw T §1 st 3T 7TE =t ! I 7 @ Ha € 3 wdgma el | e
Udld gid g1 | g4t freeul &) ufen e aa wifere fos few e faseuf & @ wi9-a1 fAasey faw e
Bl BT AHEITT U A SJARI HT 7, TS A 9 $2 i g1



Statements:/ PY:

Some Cows are deer./ $9 1T, %W%I

Some deer are fish./ $ 831, A5l 21

Conclusion:/ e

I. Some cows are fish./ $9 T4, Il gl

II. Some fish are cows./ WT@?ﬁ, TI'RI%'I

1. If neither conclusion I nor II follows/qf%:rﬁ@lﬂfl 11 &WW%
2. If only conclusion I follows/aﬁmﬁw?ﬁfl GF:[\HTUTGOTEIT%

3. If only conclusion II follows/ afe Fad fswY 11 &I":RITUTWFIT%

4. If either conclusion I or II follows/ I a1 Ftws I T7 1T SIERI HRell §

Correct Answer :-

« If neither conclusion I nor II follows/ af& 7 FAFE I 7 11 3I¥RI 3T &

53) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./fAdr: ﬁ%ﬁ'ﬁ{@ﬂﬂﬁ@ﬁﬂ? 3R ITP
91 $© et fau T g1 3t 3T 7T Hy= &1 T 711 @ U €1 9 Fdgma al | =
wdita gid gt | 9t et 3t ufee fibr au 3t i fiw w1 frspt o @ -1 freed feg e
HY BT AHTT U Y SR a1 8, AT 9T a1 $5 W &

Statements: /PY:

All rats are cars./ ?-T‘J-ﬁ'{%, PREI

All cars are tiger./'\‘r‘lﬁW, GI]

Conclusions:/ ﬁ-’l’Wﬁf:

I. Some rats are tigers./ Wi[%, Tl

II. All tigers are rats./ mﬂam, i%%l

II1I. Some cars are rats./ $9 PR, q?%l

1. None of these/ 3798 9 &5 Tal

2. Only I and II follow/ %aa I 3R II AR B &
3. Only I follows/ $dd I 38R0l HRT & |

4. Only III follows/ ad 11 3FIERUT BT G|

Correct Answer :-



« None of these/%‘lﬁ@[ﬁ%c:!ﬁ

54) DIRECTIONS: These questions are based on the basis of following

information. Study it carefully and answer the questions./ Ae=: 3 U=
freferfee TFeRt wR smenfea 81 39 e 9 ufey ok w=Al & S S|

Eight executives J, K, L, M, N, O, P, & Q are sitting around a circular table for
a meeting. J is second to the right of P who is third to the right of K. M is
second to the left of O who sits between P & J, L is not a neighbour of K or
N./ 316 BTSRRI, K, L, M, N, O, P, 3R Q TH TUTHFR AW & 3¢ I TP 96 31 & e
¥SE1I,P HF LA T, WK F ST AITRIZIM, 0 FIMWAGERIZ NP 3R I F g
¥BTR1L,K I N &1 USRI el 21

Who is to the immediate left of L?/ L & A@ean g g2
1. K

2. None of these/%qff “@(ﬁﬁﬂ‘sﬂ

3.Q

4.0

Correct Answer :-

« None of these/3T8 A ®Is ol

55) From which of the following districts of Madhya Pradesh does the River
Chambal originate?/ 7% U¢x & fHafafad fora @ 9 fvd o @ wvaa 7t &t iy gidr
2

1. Indore/é@?

2. Khandwa/ T&dl
3. Dhar/ YR

4, Raisen/TR?I@:r

Correct Answer :-

. Indore/éa?

56) The Fair of Math Ghoghara goes on for - / {3 HTERT &1 AaT fpaq &1 a& Iaan

a2

1.21 days / 21 f&A
2. 15 days/ 15 f&d
3.10 days/ 10 fad

4,1 month / 1 HIg



Correct Answer :-

. 15 days/ 15 faq

57) In which year did Dost Mohammad Khan of Bhopal breathe his last?/

HIuTe & I g @ A i adf & eifow v <ft
1.1728
2.1727
3.1726

4,1725

Correct Answer :-

« 1728

58) In which of the following months is the Khajuraho Festival of Dances

held?/ fAafafaa 7= & 9 $19- ¥ 98 # TRTe! To7 Sd &1 3Tatei faar srar 82
1. March - April/ 9/ 3iid

2. April-May/ 3T- ﬂ's‘

3. January - February/ SHARI- HRas)

4, February - March/ TaRl- AR

Correct Answer :-

« February — March/ TRasl- A1

59) In which state is the Sharavati Power Project situated?/ YRTIL graR
i fy Isu | fRya 82

1. Maharashtra/ HeRRTY
2. Karnataka/ PHHicH
3. Kerala/w

4. Tamil Nadu/ d 1‘-|61¢|I§
Correct Answer :-

« Karnataka/ FHlch

60) Thakur Dowlat Singh, who fought against the British in the Revolt of AD
1857 belonged to the district of - /3T glad g, =it fafexwr & favs 1857 ¥ fawis



H e ¢, oi- 9 o & wwifRa A2
1. Dewas/a?ﬂﬂ

2. Umaria/ SHRAT

3. Seoni/ Ry

4, Sheopur/@ER

Correct Answer :-

. Dewas/aﬁm

61) The ratio of A to B is 4:5 and that of B to C is 2: 3. If A equals 800, then C
equals:/ A 3R B T 3[JUTd 4:5 8 TUT B 3 C T 3JUTd 2:3 31 fS A BT HIF 800 7, Y C FT
0 I H |

1. 1200
2. 1500
3. 2000

4. 1000

Correct Answer :-

« 1500

62) The ratio of the cost price and selling price of an article is 20: 21, What is
the gain percent? /T a3q & ARTd Yoo 9UT fIsha Yea HT 3guTd 20: 21 §, 9 @14
PIRICEIG GRS

1. 5.5%
2. 6%
3.5%

4,.6.25%

Correct Answer :-

63) Bharam, Setam and Saila are the major dances of the - / HH, Ryaw siiv
T {5 SereTia & WE T 82

1. Bhil tribe/ HId SSITid
2. Bharia tribe/ HIRAT SHIIfd
3. Baiga tribe/aTlTGFIGITI?f



4. Gond tribe/ Mg ST

Correct Answer :-

« Bharia tribe/ HINAT S

64) At what percent per annum will Rs.3000 amounts to Rs.3993 in 3 years
,if the interest is compounded annually? /% aiftfe sarel ©1 g3 T 3000 T U3, 3 a6 A

3993 ¥U g1 ST, Afe Thgies ATt aife ¢ Bi?
1. 9%

2. 10%

3. 11%

4. 13%

Correct Answer :-

e 10%

65) 1 = [1+1+{1+1+(1+1=+2)}]=?
1.3

2.

Rl N

ol

4,

Correct Answer :-

5

66) Bal Krishna Sharma ‘Naveen’ was a freedom-fighter from - / STl $T XA}
"TET BE1 P TdAdT AT A2

1. Shajapur/ RITSITYR
2. Jhabua/ 13T

3. Maihar/ A&X

4. Ujjain/ IoH
Correct Answer :-

« Shajapur/ RITSITYR



67) Point A is 40 m to the North of point B. Point C is 20 m to the West of point A. Point D is 30 m to
the South of point C. Point E is exactly midway between points D and F in such a manner that point
D, E and F form a horizontal straight line of 40 m. Point F is to the East of point D. Point G is 30 m to
the North of point F. How far and in which direction is point G from point A?/ ﬁg A,B H I H 40
e ot g W 71 g ¢, fig A & it # 20 Wiex &1 gt w81 g b, fig ¢ & féor & 30 3t
IR B fAg E, fagei p o F & 19 4 s yoR § 75 fig D, E SR F 40 Hiex 3 ts st Y
¥91d ¢1 fig r, fig p F yd ® 31 g G, fig F & 30 e Sk o1 eiR 81 fig G, g A A it
IR IR fra fezma 32

1. 30 m towards West/ Uf&H &1 3R 30 Hlex
2. 40 m towards North/ ScR 1 3R 40 HIX
3. 20 m towards East /Ujﬁx’rﬁ? 20 Hiex

4,20 m towards West/ Uf&# &1 3R 20 Hiex

Correct Answer :-

« 20 m towards East /qﬁﬁe»h? 20 HleX

68) If day before yesterday was Wednesday, when will Sunday be?/ uﬁ%ﬁ?rgq
& % g &1 e AR 41 &) IR Ha grm?

1. 3 days after today/3{TST ¥ 3 fa 91¢
2. Day after tomorrow/3{H ad &d & dlG &I T
3. Tomorrow/odd

4, Today/ 3

Correct Answer :-
« Day after tomorrow/3( aTdl Hd & dIG &I faA

69) Three of the following four are alike in certain way and so form a group.
Which is the one that does not belong to that group?/ ﬁquﬁamﬁﬁﬁeﬂq
) UpR THT § 3R T Tg a9d & R A 9 o a1 U Iqg | T 82

1. 836654
2. 836475
3. 836432
4, 836986

Correct Answer :-

« 836475



70) On heating a circular metallic disc with a circular hole at the centre, the

diameter of the hole will?/ TF Md YIfd® Tbdl B $g A UMD D6 A TRHA foogm SIrdr
g, SU D¢ BT HH?

1. Decrease/ &H g
2. First increase, then decrease/ U’e‘@f@%’llﬁb‘imm
3. Increase/ dg

4, Remain the same/ '\“IIIWQ%JI

Correct Answer :-

« Increase/ aé} I

71) Two positions of a dice are given. Which number would be at the top

when bottom is 2?/ TP U $1 &I fRufaar &t it g1 $19- e e =hid i it 5ia
1 2 ghme

ol &

Correct Answer :-

« 6

72) A drug that prevents infection and decay is called a/an?/WGﬁqfﬁFﬁ
T &1 TH Bl & , 3N GHD! TN & SQ T T ol & -

1. Germicide/ 3{HITRI
2. Antimalarial drug/ UfaHQRar siufy

3. Antiseptic/ T QR_IW
4. Analgesic/ TSTERY 3NufY

Correct Answer :-

« Antiseptic/ T QR-IW



The acid that can be used as a hypnotic is?/ ﬁyﬁﬁﬁwmﬁwaﬂm
ST f3ar o &

1. Tartaric acid/ TICR® 3w
2. Barbituric acid/ STfe&RI® 3

3. Butanoic acid/ W&ﬂﬂ
4. Benzoic acid/ IWIg® 3

Correct Answer :-

« Barbituric acid/ STfecRi® 3T

74) Sheela is Ravi’s sister-in-law. Ram is Ravi’s brother. Ram’s wife is
Sheela. Deepa is Ravi’s sister. Deepa’s mother is Shanti. How is Sheela

related to Shanti?/ =fter IfQ &1 yreftarel 71 3@, 39 &1 U 1 39 o ueit e g1 S,
IS Y g &1 Stur Y |1 wifa 21 <Frerr, wifa 3 fra yor defta 82

1. Daughter/GQAt
2. Daughter-in-law/dg
3. Mother-in-law/dM9

4. Grand—daughter/lﬂ?ﬁ

Correct Answer :-

« Daughter-in-law/dg

75) The tissue that plays a leading role in the elongation of many bones is?/

o 5 @ o1 SR & dd 819 § Heyul YfieT Frumar g:
1. Fibroelastic tissue/ UAMRId] 3Ph

2. Areolar tissue/ dIFdIg I<ich

3. Spongy bone/ Jisit Y

4. Cartilage/ IUTRY

Correct Answer :-

« Cartilage/ IRy

76) The boiling point of water?/ Sd &1 Y% fag glar 3
1. Is always 100°C/ g 100 °C

2. Depends on the atmospheric pressure/ WWW%@W%



3. Depends on the material of the container/ m%&wﬁww%sﬂaﬁwﬁmm%

4, Depends on relative humidity/ TTU&f 3fTgar iR R

Correct Answer :-

« Depends on the atmospheric pressure/ WWW?&R’W?

77) Hydroponics is the?/ gEseT 82

1. None of these/ §TH q ®Is -Ta!

2. Water portion of the biosphere/ S AUSH H IURRIT ST YN
3. Water content of organisms/ Siial H SURIT ofd

4. Loss of water by plants/ UIey gRT ofd &1 8T+

Correct Answer :-

« None of these/s_rlﬁﬁﬁéc:lﬁpf

78) The Central Drug Research Institute (CDRI) in India is located in?/ C-)
Sy ST TR URd ® wgl RAIT &

1. Delhi/ faeeht

2. Lucknow/ Td1%

3. Allahabad/ SATGEIG
4, Bangaluru/ d7Td®

Correct Answer :-
« Lucknow/ 13

79) In the process of respiration, the component of air used is?/ Y= B Ufspdr
H aTg BT BI4 AT Uedh TN | a1 oIra1 82

1. Inert gases/ 3fHa T

2. Carbon dioxide/ ®Ta €% TRTES
3. Oxygen/ iRt

4. Nitrogen/ :HE@\_:FI

Correct Answer :-

« Oxygen/ 3ieRITH



80) Planets are?/Jg gld &:

1. Luminous bodies that twinkle/ TH®eR ftis qur feafenrd «t &

2. Luminous bodies that do not twinkle/ Wﬁgﬁﬁ%ﬂﬁﬂﬁq—ﬁﬁ%

3. Non luminous bodies that twinkle/ Wﬁg@rﬁﬂﬁﬂ'ﬁ%

4, Non luminous bodies that do not twinkle/ 3P ER fifs o fenfenra ﬂ-ﬁ:ﬁﬂ%

Correct Answer :-

« Non luminous bodies that do not twinkle/ 3H®SR fig o ferfeaa i 5 &

81) DIRECTIONS: From the given alternative words, select the word which
cannot be formed using the letters of the given word./ Rd=r: FufeRaa fdee o
A 98 Teg YA o) AT T8 31eq F 31eRY 1 TART B3 A1 a1 oIl APl o-

COURAGEOUS
1. SECURE

2. COURSE

3. ARGUE

4. GRACE

Correct Answer :-

« SECURE

82) DIRECTIONS: Arrange the following in a logical order:/f3%: A H T
3rfyut vr # afRa 3|

(i) Vegetable/ dsil

(ii) Market/ 9TSIR

(i) Cutting/ HeTS

(iv) Cooking/ HTHT IATHT
(v) Eat/ @I

1. (i), (i), (i), (iv), (v)

2. (iii), (i), (ii), (v), (iv)

3. (i), (i), (iii), (iv), (V)

4. (v), (ii), (1), (iii), (iv)
Correct Answer :-

« (i), (i), (iii), (iv), (v)



83) The fundamental role of root hairs in plants is?/ 9@ ¥ &1 T $1 UrgU §

RIS
1. To protect the root from soil microbes/ G@Hﬁ%ﬁ@@ﬁﬁ&?ﬁ@ﬁﬁ%ﬁﬂ

2. To protect the young root from damage by coarse soil particles/ a%q'crrmﬁﬁmfr
STS! P WRE 8H U S & folg

3. To absorb water and mineral salts from the soil/ SISI ¥ Sd g Wf-ol AUl &I @=NAT
H & fore

4. To bind soil particles to the root for firm fixation of the plant/ SISl ¥ Ta&l & HUIl Bl die)
TG UG &1 T R IR TS 6 & oy

Correct Answer :-

« To absorb water and mineral salts from the soil/ SISI I SId d WISl AT &I IRNT
H & forg

84) The term taxonomy was given by?/ fFd® gRT e “eaTIHIHI"” HT Ufdure- feoar
qr?

1. Rendle/ 38a

2. Theophrastus/ fﬁu‘rﬁ@v

3. Bentham and Hooker/ §4# 3fR gx
4, A P de Candolle/ Eﬁ@ﬁﬁio_eﬁ@[

Correct Answer :-

« AP de Candolle/ TH St e

85) The speed of sound will be higest in?/ @af¥ &1 iy Faifte fead g &:
1. Dry air at 30°C/ 30°C R Y[ ga1 d

2. Dry air at 0°C/0°C R YD ga1 {

3. Humid air at 0°C/ 0°C W 3T gar ¥

4. Humid air at 30°C/30°C R 3T gar d

Correct Answer :-
« Humid air at 30°C/30°C W 3 gal &
86) In human systems, vitamins cannot?/ H9d d3 H faeTfu= =1 981 #d?

1. Help in growth/ q@ﬁw



2. Help in metabolizing drugs/ IUTI= 39 § TgRIe o1 Hifd

3. Help in digestion/ Ore- H TgMI®

4. Supply energy/ ol Uerdl & &0 |

Correct Answer :-

« Supply energy/ Sl UeTal & ¥ 0 #

87) The process of elimination of water from any system is called?/ f&<t o
T A A BT ST BT R Haaral g

1. Evaporation/ GILYER|
2. Oxidation/ 3R]

3. Reduction/ 3U<d-

4. Dehydration/ [ECNIGEU

Correct Answer :-

« Dehydration/ [ESNICRL

88) The process of fission occurs mainly in?/ fd@sa 91 forar Irm=aa: fFad gkl

e
1. Nuclear reactors/ ATY®T T4

2. Chemical reactions/ IHM™® SHHfhar
3. The hydrogen bomb/ GE@WEUTW

4, The sun/ ﬁif

Correct Answer :-

« Nuclear reactors/ TH®T T4

89) The disease that is caused by viral infection is?/ ﬁgﬁ@aﬁqwﬁnﬁmug
wifed giar 82

1. Cholera/ %Trﬂ

2. Typhoid/ TRBIES

3. Tetanus/ feeTg

4, Common cold/ ITYRUI ShTH

Correct Answer :-



« Common cold/ ITYRU JHhTH

90) Which of the following plant spices is obtained from flower buds?/ g #d

A P4 T HATAT & ) o0 Hie1 & T b sirar 82
1. Clove/ AN

2. Cumin/ SR

3. Coriander/ 4+

4. Nutmeg/ STlI%hd

Correct Answer :-

. Clove/?ﬁ’T

91) Turpentine is obtained from?/ TS P a4 frad urw far smar &
1. Oak/ 30

2. Pine/ Ulgd

3. Deodar/ SdER

4, Crude petroleum/ el dd

Correct Answer :-

« Pine/ Ulgd

92) One way of checking the expansion of the Thar Desert would be?/ YR &
T & TR B AP+ BT aRIBT T 81 ADT 82

1. By digging canals/ 8% @G
2. Through artificial rains/ HHH aul BT
3. Through afforestation/ J&RIGUT

4, By constructing water reservoirs/ Sidl 8RO I

Correct Answer :-

« Through afforestation/ G&RITUl

93) A true fruit develops from the?/ TP Ud B P A glan g -
1. Carpel/ o g
2. Ovule/ diSig T



3. Anther/ URT I

4, Ovary/ SiSRE Y

Correct Answer :-

« Ovary/ 3SREY

94) A person with which one of the following blood group is considered a

universal donor?/ 9 & q FIHA Yo TYE & AR B TdeTdT aviipUT § I@T ST
1.0

2. A

3. AB

4.B

Correct Answer :-

« O

95) A transformer is a device for?/ CIHBRTR TH T € ol

1. Converting AC into DC / AC YRT %I DC # uRafdd exar g

2. Generating electricity/ faegd ITUS FR1 &

3. Stepping up or down ac voltage/ AC aﬁéﬁrﬁwwwmﬂmﬁ%

4. Stepping down or up dc voltage/ DC mﬁwmmwm%

Correct Answer :-
« Stepping up or down ac voltage/ AC aﬁéaﬁaamwmﬂao—cﬁ%

96) How many triangles are there in the given figure?/ 3t 73 3MHfa & foaq fiyw
&2

ANEVANIVAN
JAANVARVARN

1.9

2. 11
3.7

4.8

Correct Answer :-



97) Inspector Sooraj travelled from his police station for 400 m. He then
turned left and travelled 500 m straight after which he turned left again and
travelled for 400 m straight. He then turned right and walked for another
600 m straight. How far is he from the Police station?/ ﬁwwmgﬁm
TR A 400 W B I HRd &1 I8, 81 W 91C GSHR 500 HY Bt ATAT 3R H3d & | 3TD 91
M 9z dfTgea § o 400 N F aET HRA ¥ 98 R S e § o 3rTet 600 Htaer §1 98
g Uive 9 frasit g R 82

1. 1.1 km/1.1 foo et
2. 1.8 km/1.8 fet
3. 1.4 km/1.4 Tt

4. 1.0 km/1.0 Tt

Correct Answer :-

o 1.1 km/1.1 fopelt

98) Television signals cannot be received ordinarily beyond a particular

distance due to?/ T® g3l & 91¢ <141 & Ra afRyd ¥ A &1, fad wife?
1. Weak antenna/ ®&HIR UEHT & HRUT

2. Weakness of the signals/ ﬁﬂﬁm'@mﬁ%

3. Absorption of signals in the air/ Rt ga1 gRT SaNivd &R forar Sar &

4, Curvature of the earth/ Jdl & YHAGR g HRUI

Correct Answer :-

« Curvature of the earth/ Jedl & HIIGR §IH HRUI

99) A steel ball floats on mercury because?/ W%‘\‘qﬁaﬁﬁ?{ﬂﬁaﬁﬁ%‘?ﬁ%
Fifp:

1. Mercury does not allow any metal ball to sink it/ ORI fdit 4t 41 @1 7iq HI a4 ot adl
2. Mercury is also a metal in the liquid form/ URT %8 U& UTd & Sl %4 3awT & gdl &
3. The density of mercury is higher than that of steel/ TR & 99 ST ¥ 3 gl &

4, A steel ball can be made to float on any liquid by suitable adjustment/ ISR
foralt oft oa o ORA & o srawae fufa s aar g

Correct Answer :-

« The density of mercury is higher than that of steel/ TR &1 9@ 3910 ¥ 31 gl &



100) The compound that does not from a clear solution with water is?/ Fad

T B91 U 51a & I1Y faea= T8 s9ran 8
1. Baking powder/ @ﬁm@f

2. Sand/ 9T
3. Sugar/ ¥ ]
4. Caustic soda/ PIed IIST

Correct Answer :-



